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UGC NET Paper Review 2024 Difficulty Level j

Based on the candidates feedback, English and teaching aptitude sections were easy. However, maths
section was difficult. We have updated the section-wise difficulty level here as the shift 1 has ended

successfully.

Subjects Difficulty Level
| Teaching Aptitude \, | Easy \/
| Research Aptitude | Easy \/
| Comprehension Q\S\ ‘ Easy ’ / g}

Logical Reasoning Easy

Data Interpretation Moderate \/

hMaths Difficult

Communication :/’ Easy /
Environment Easy-Moderate ‘/

People & Development EES}f-MDdE!’EtE\/

Higher Education Easy /
T Easy

7




Given below are two statement with refers to
the different number systems:/fafi=sr weEaT

uTfeTel o e A Y wuw flau o § -
Statement/&AT I : (0.6875),0 = (0.1011),
Statement/&he 11 : (111011.101), = (58.625),,

In the light of the above statements, choose the
most appropriate answer from the options
given below: _ )
ITYTH HAT & A °, o fau . fameat
H W WEH 3IUGThH I Rl AT R

(a) Both statement I and statement II are

correct/&HYT [ 31 H49 11 31 T&T 2

(b) Both statement I and statement II are
incorrect/HId 1 3R HI 11 T Teld @

(c) Statement I i1s correct but statement II is
incorrect/&HId [ Tal 2, AAfhd HI9 11 7Teid 2

(d) Statement I 1s incorrect but statement II 1s
correct/HT [ TTed @, Afehd Ha 11 Tl @



When we set a very high level of significance,
which type of error is likely to be enhanced?

W T Wil T TR SEA =@ § A
f= o 9 R W e °oF Sigd SRl WTWTEET 9@

AT &2 — - 9@3
(a) Type I errof/2T39 1 If¢ )

(b) Type II error/2TgY I'ﬁnl
(¢) Zero error/YA IiC

(d) None of the abovemﬂ?ﬁ 4 g $Ig Tl

Ans. (b) : 59 UG SO TEHTTT B TAT T
= n % [ = r

R 9 39 WHR ST 81 3 W& & IE &I RI-11 T

ster 3fe FRr ST 31 S g9 wefedl F WX 98

Wad € @ 2RI I s & gnyEr Ay | S 2




Which of the following is not a non-parametric
test?

frey § & S oTrerferes Titer e 7
(a) Sign test/fag TleroT

]

(b) t- tBSt/E.Pr‘qﬂ'auT \/ o A £ @& "
(c) Median test/ATEATeh qLeqoT B ety l
(d) Run test/Td IO P

9

Ans. (b) : a-gdgu ervEfos wdem & g1 T’ S
Tudifes_Tdar 8 39 e ¥ us a1 399 o
SHEE TUHed & glee & fou fed S g




-_—

Arrange the following events chronological
order—

frAfeTiad TeamRTl Tl 37dh HICIHRH & TR
AL ehi—
(I) Sargent Report/drsi= Rard
(II) Wood's Despatch/ge—hl TIYOT O3
(III) Wood-Abbot Report/ge-Tae Rare
(IV) Sadler Commission/S€aX 3T

(a) L IL IIL, IV (b) IIL IV, L, I
(¢c) LIV, 11 1 ta) 1L 1V, 111 1
Ans. (d) :

g€ @I °INUT 99 — 69 1854
JeeR AT — G- 1917-1919
ge-TFe e - ¥4 1937
geive Rad - 99 1944




qEit-1 get-11

( 3T /At ) QIc:EED
Yol 3N . | ddear  favafogrem &
(1917) / FHIIHLT]

gefn afufa 2. | 9Ra | f3en w = Rured
(1929) /

U A | 3. | 9Rd § favafaamers fwen
(1948-49) /

ayTaTel afufd 4. | ot 3R IEHREE @




N T

Ans. (d) : Fﬁﬂ'ﬁﬁﬁ%’ =

AT ELE3] v
A. | 39 g —> | THTY HAA FATA &,
Fifs a7 @ F A
& 99T HIA g
B. | amaag IR SELHECE SR
C. | =uids -5 wﬁﬁﬂm% Hifh
78 399 2
D. | 37ETERo s | @fy wmad g, Hifs I8
TARNER 57 B

@_-(

‘B //

7.

Match List I with List 11

TEht-1 &1 F=i-11 | firem st

List-1 (Hetvabhase)

List-1I (Example)

geit-1 (FeaTam) git-11 (SETeuT)
A. |Ashrayasiddha [. [Sound s eternal
3T fug because it 1S
— audible/ i Nler
g, Jdifch I8 99 & |

B. |Vyaptatvasiddha/ I1.

E2lISECIIEE P
/

Sky lotus 1s fragrant
because it a lotus
like the lotus of
lake /31T hHeT
g 8, e I8
e ¥ Fu 5 g

A 2|

C. Svarugamddha I11.

Wherever there is
fire there is smoke/

Sl ST @ gl e g

D. |Asadharana IV.

Savyabhichara/379T81
0T AR

Sound is a quality
because it 1S

visible/&afd T&h il
3, Fifh I8 3T 2




Light Water Reactors (LWR) are nuclear Ans. (¢) : 8o 5 RUFT (LWR) TF JHR & IHd -

reactors/Eeh WA UoRT  (TETSSeoR) =i fugex g st 9 ot & fawda, e1o e eiR

ek Tar fiuery § =2 AiEgieX a4l & ®Y H A ST S ST ST &

(a) Which use heavy water as a coolant TH FA AT T & W FY H IFM oA S
Rt e ¥ w7 F al S a7 SA R w0 ¥ fohar Sar g1 gHer-=ggia Ruget g Rudet &
ey \ Tol WA SER 8, AR gosl e Ruge’ afe - =giq
3 Rudex 1 9o 99 YR 2|

(b) Which use graphite rod as moderator
o emcd & &9 § IEEC TS & T

A 2| @ {
(¢ Which use ordinary water as moderator = \ 303\
)4

S0 37a¥ed & ®9 § 99 A @ YA
fopan o 2|
(d) Which use steam as moderator

9 219ied & &9 § 919 & Y3 63 I 2|




24. In which of the following sampling methods,
the sample is also known as an accidental
sample and a haphazard sample?

r o feRe wierest
‘ﬁr Teh 1=n1:ﬁ'ﬁ“|m 3-T‘r{ Tt Wicaylt ket
ST 72
(a) Purposive sampling/SasHTETS Sfaaa-
(b) Quota sampling/d;id,l NRERE
(c) Stratified random sampling/SRelg TG

\/&j:j;ience sampling/GfI9TIER Ffc=a

Ans. (d) : gOgER Sfaeda | sfoeel & Ts i
aﬂaa&wﬁaﬁaﬁaﬁaﬂwémﬁwaﬁww
TR-GaTaaT TR fafyr 8 @l s 3 9§ whe
aﬁ%lmgwl \mdl%’azﬁﬁﬂﬁa?ﬁﬁﬁaﬁﬂma?ﬁ
Tgo 99 AH ©| T8 dnifas feed, fedt fafya
U W 3Tl AT ATHLE H TR & H 3BT & SR
3 TFW §1 YAYRER T TE 6K & R aRen
:F:HWUT%’I




8. Match List I with List I

LIST 1 LIST 11
(Authority/Viceroy) (Commission Chairman)
A L.ord Ripon | ¥ Sarvapalli
Radhakrishnan
B. Lord Curzon 11. Thomas Babington
Macaulay
C. William 111 W. W. Hunter
Bentinck
D. Government of | ITV. T. Raleigh
India
=i 1 =RT T=i 11 9 T shifsig
=T 1 o=iT 11
(ATTETeR T ST EIT) (SITART 2TE=TaT)
A. | ot Ra=x I. aaeetr
ITETShSOTT
B. | =€ s I1. STTHE Sfei e
TRt
C. | afetaa S II1I. | S, S5cd g2
D. | T 9¥ehtT IV. | 1.3

Choose the correct answer from the options
given below:/Faferiigar farekrear & o ST
ThT ST ShitaTq;:

(a) AIIL B-III, C-1I, D-1V

(b) AI B-1II, C-1V_, D-III

(c) AIIL B-1V, C-11, D-1

(d) ATV, B-II1, C-III, D-I

Ans. (¢) : 98 gHT 39 IHRK o—
a=ir-1 =ir-11
(TTETeRT{T aT=Eai) (STTETAT 3Te=T8T)
A e o= I11. Socd. Socd gel
B. | &€ oA Iv. | &1 =
C. | fafafasa sifte=s i oATHY St HehicA
D. | «I1%d E9IHhL I. gl THUTHhT—




What is the full form of NBOD?/TT &t 21 &

T U1 W ¢~

(a) Neutral Biochemical Oxygen Demand
2T TG AR S

(b) Natural Blochemlcal Oxygen Demand
rirmd TGS SR (e

(c) Normallsed Blochemlcal Oxygen Demand
THIEeE T i (ehg

\/(({ Nltrogenous Blochemlcal Oxygen Demand
TR ST et feure

Aus, (0): AN, & T T TZwW T
ﬂﬂ@ﬁ%ﬂ%%ﬁ?@wm n@mﬁNﬂg
%%ﬁﬁ&mw#%mH@MWdﬁMMMdi
R TeeTe W@ S e ¢l

&% k>

DL




37. Ozone layer which protects us from harmful
ultraviolet radiations is situated in/3TST WA

S g JRATCE UNETHT TR § S €,
fRera gidT 3
(a) Troposphere /@IVHEd (ZMAEHaT) |
(b) Stratosphere/FHdTT HEA (RIeTEhRaR) |
(¢) Mesosphere /A&THEd (W8T ThHaW)
(d) Ionosphere ISP (aﬂqrﬁ ThHa) T

Ans. (b) : SIS W I ¥ -idaHI-iﬁS qUeTHT fRTon g
EEI %‘I 98 gy Hed (%dc‘.li-l-hf-lt) ¥ flog g 2
gHAY Hed dgHed & gul T@ § W & &ﬁm‘e&?{ &
IW RYd ¥ T& W A9EH %l Afes faawor gaE gar 2
sﬂaﬁaﬂuﬁﬁﬁw%ﬁr SR gal & U T 8
Sl a% WWEWWWW 18 fodt d%

T




The following table shows the number of employees

of five companies A-E who prefer their own vehicle to kO | UW IRl | TH kel | U sheeRa
reach office and percentage (%) of employees who & AT AT [l WiaroTaar S| @t WiaoTaar |
prefer Metro and Bus to reach office. There are only AT a1 ﬁé’[q‘q{{aﬂﬁ & W ST qUe
three modes of transport as mentioned. Based on the T w0 ¥ FaE

date in the table, answer the questions that follow.

Company wise Distribution of Employees Preferring A 184 68% 24%
Modes of Transport = B 78 60% 35%
|Cumpany Number of | Number of | Number of C 384 35% 30%
Employees | Employees | Emoployees D 182 70% 16%
who prefer | who prefer |who prefer Bus E 220 72.5%, 15%

their own Metro 1.  What is the ratio of number of employees who
Vehicles prefer travelling by Bus from company C to
A 184 68% 24% that of D?
B 78 60% 35% wUAT C 3R D H oW W UGN & qET &
C 384 55% 30% ST RISl hl I T STIUT &FIT 32
D 182 70% 16% (a) 48:19 (b) 48 :23
E 220 72.5% 15% (c) 48:13 (d) 48 : 11




City-wise details of Employees in an Organization

TRl TisaT o

hT ITEId

Number of]

Percentage (%b6)

City Employees Distribution of _
oY ] Employees/c *
@1 9T Teraor =t wfagTaar
T — HR/ Fina IT Acco
= nce/ |3TMEET |unts
- forer =T
Delhi 200 - 18% - 28
oot %o
Mumbai | 760 15% - 30% -
b Sakd
Bengal- | - 18% 20% | - 32
uru %
|
Hydrab | - - 25% 18% 35
ad %
g
Gurgaon | 700 20% 22% = 20
NEMIET Yo
Note :
1. Some values are missing in the table (marked

as'

required.
aneTeRT H o WO O Tuiga & T @
fau 1o & TSt g, afe 2 mavaes &1, fehar
ST 3TATETT B

') that you are expected to calculate

Each employee works in only one department.

Tk AT ShaloT Ueh gF TaumT § =i 21

if




Through enrichment process, concentration of
which uranium isotope is increased in the
natural uranium?

o wreRfersh TEW W fohw o wweenfe &
\W& ,/\z);(/ Toh—=UT ehl Haeld Wishal gRT SI@TAT WAl 82
VBN N7 (@) U234 @) U-235 )
(c) U-238 (d) U-239

&‘\7/ Ans. (b) : Hlf*ahldﬂh RTm ¥ U — 235 = guents
_/ & Hchrim F YadT SEHAT F T AT 2 EARETRY
¥ wrd g # U-235 & TE1 0.07% & B 8 3R
S U-238 31T 81 o7 B/ gfTam ¥ U-235 F A
ey fofT o1q sgr € 7 & 39 Heifer Zh‘ﬁ'ﬂt[ hal STl
gl




38. Match List I with List II
=it 1 =kt W= 11 9 e sk,

LIST-1 (CHANNLE LIST - II (NAME)
NO.)/ ’ TAT-11- (a19°)
w=i-1 - ==t .
A. | CH-04/99a H.-04 i PRABANDHAN
EELG]
B. | CH-05/994 9.-05 II. KAUTILYA
Hhifaea
C. | cH-06/=FF 49.-06 III. | SAARASWAT
HT{idd
D. | CH-07/99a 4.-07 (8% VIDHIK /fafer=s

Choose the correct answer from the options

given below:

firer fag 7T faekrcar & & 9Er ST &1 ==
BFﬁ'I?ﬂ'Q:
(). A=TL, BoTV. CL1. D11

(b) AV, BIIX, C-1I, -1
(c) A-IIL, B-1, C-IV, D-II
(d) A B CIV. TR0

a9 .
a9 H.
a9 =,
a9 H.

04
05
06
a7

.

Vv

Ans. (¢) : T& g+ fa=ad © —

=t 1 - = e E1E=)

(iii) I&=gq
(i) Ssgd
(iv) fafgs
(ii) <hifee




40. When a water body gets enriched with

nutrients, the process is called
IS Uk WA Ry mﬁmm@a'sﬂm aet e/
TG gam g Al 39 Wik ohl m ST 3

(a) Oligotrophication /2TeqUTsaHT]
\\,\ .% (b) Eutrnnhlcatlnn f‘qﬁm___ /

@/ (¢) Mesotrophication fmz:rq”lﬁ’ram‘/
(d) Dystrophication /g0

Ans. (b) : 59 TF T g a1 TARE NG dl 9
ggg B © a3 WA H gUST (FZIfRETE) Fa
ST g1 Feithdye Y 4 SR T RGOS ad %
wite 3 3 w9 § R B T 8, g 9
ErEl & G 37 arell s A19% a9 2




Statement I : Aristotelian logic is verbalistic.

H | : SWE] T ek IS 8l

Statement II : For the classical Indian school of
logic (nyaya) verbal form is not the essence of
inference and is required only to convince
others.

HAT 1] : AR IME ™ Teh-Ted (FAT) & T
yTIfegeh WU 3TTAT AT ON &l § AW Ol i
U o ToTu &1 SHent STavehdr gidt

In the light of the above statements, choose the
correct answer from the options given below:

UL e ok TTelleh W el fau U ferehear W
| HE ST T o@T I

(a) Both Statement I and Statement II are true.

HI9 1 3R 11 1 97 2|

(b) Both Statement I and Statement II are false.
&9 [ AR 11 S 319 |

(c) Statement I is true but Statement II 1s false.
9 [ TF § i S99 11 379 3|

(d) Statement I is false but Statement 11 is true.
S [ 3G 8, wfhd &e 11 99 2 |




Illegal access to a computer system is known as
are programs that self-
replicate and are designed to disrupt computer
systems. is where a user is sent
legitimate looking emails; as soon as the email is
opened and the recipient clicks on the embedded
link, they are sent to a fake website. Software that
monitors key presses on a user's keyboard, and
relays the information back to the person who
sent the software, is known as

ShEEEY e O 2 ArnSehd ST kT
oF ¥™O T ATAT ATET © *or-
uﬁ@%%ﬁm}aﬁmaﬁmﬁmﬁﬁl
&l Uek UATThT ekl o -t
‘ﬁﬁTG‘IT—IT% AT =T ET S-HeT WTAT ATaT g 33T
ureaehal fom, T foes v faerss =w3ar & S8
SITET derErse 9o fa=r =mar 81 98 9o adaT, v
TATThRT oF Shi-silS OF ahl 2T <kl HATET aRKIar
&, 27 ST =i~k okl a9 =T UEria shiarl &
Tfo=a=T SIS o, TEr HET SITaT )
A. Phishing/fGR{33T
B. Hacking/%‘l%i-»_lT
C. Spyware/3TSa=1¥
D. Viruses/drT=¥¥T

Choose the correct answer from_the options
given below:/~=r fau 1o farercar o o ERabl

ThT STS-T ahilsT;:
(a) A.D. B, C 2 g = S b W
() B,D, A, C @) © A. B

Amns. (¢) : w%@nﬁmﬁgﬁmaﬁ%%
mﬁmmglm@w—ﬂﬁﬁ g S HP=EX
o=y =1 afud S 81 fORiPhT a8 & S8 Us AT ST 9%
S-HA UST SAT 5, 9T A & §-5e @ren Srar 8 S Sraadl
%QTrq%EW|wmmtd|%srﬁmﬁéa@sE%%‘mm
%laﬁfmeﬁgﬁmﬂ%aﬁ—@éma@rﬁﬁ Hiq=<T
AT o, AR I ARH DI 999 GI4T FHMT Sl © ™94
Hie=dag 9SS 9T, sﬁwﬁwm‘m%




Statement I : A valid deductive argument that
also has all true premises is called a "Solid"
argument.

& 1 : 9 ay P i, frw ol
eI TeRT T Bl €, '3 ' fh chgetwt ¢

Statement II : A strong inductive argument
that has all true premises is called a "cogent"
argument,

& 11 ; O 98 ARG, s o el
AT Hed 1 £, "W’ s el 21

In the light of the above statements, choose the
most appropriate answer from the options
given below.




11.  When researchers study a specific well-defined
population over time sampling different people
at each data collection point, it refers to a/Siol

T hell Yook S-UUEUT forg X 3rct-

) 3T SHATTRAT hT Ylaero otk ol ferfdmg,
\/}«' Uit F9EEar ot fafisr  sremaest o
}\” 3$(£/ STETTT A § N W o wRT T E?

(a) Cohort study/=eEl¢ TEFTH

L
7 @ _} (b) Cross-sectional study/Sfdfq&aTee 31034
@.

(¢) Panel study/S=d 31&72
(d) Retrospective study/ﬂ?l?fl‘&ﬁ AT
Ans. (a) : 51 S-H{-I‘f:-ll-imdl Hrqch & GIRUT foag T 37er-

TN AfhAl & Ud9ad Fie  fhdt %@W guTd
\TH{-I@‘-H & fafis qﬂeﬂq'ﬁ'&ﬁ ﬁ FT G & a3
FIgle 37T el STl 2 chlsle_ 2l e T &
T fagy Rl 2| TE AT fesed ts yHR & fafean
MY g1 DR W6 & AF 7 ANl H TYE |




S

27. The student's t-test is typically used/ZeeH t-
2T T FTHTAT: SUSIT Shal TehaT SATAT &2
in comparing two gropes to see if their means
\/F) differ/a TGl &I TAAT B H I8 @A & [
fop o1 39 Wiem H§ A% @
(b) in comparing multiple gropes to see if their
means differ /379% TEI & AT HH § Tz
3@ & fou i 337 396 mrea | S ©
(c¢) 1n testing the stationarity of a time series
Tuy ggen & Rafa &1 adieor & #)

(d) intesting the goodness of fit of a model
forelt Aied @ IUYhAT &1 T0=I0T oA H

i‘( d

—

Ans. (a) : €229 AW TS AAFIES AThel o fordem
3T ug gt @ & fou &ar sar 2 &6 a1 @
ggEl & Wl &k A9 P Aeayel A g R J FY
ey &1 A2w & A9 9T ThR @ -
/ ww w@da A A-almur & wygl & oA @ ge
HLT 2|
7 T IAa T -0 S-St 99 W S O
e & AT S g S g
- wH Agar A-wleor fFHR sa aeam & fovs uH
TUE & W & U007 S 81




According to NEP 2020, as a response to
contemporary global challenges 'Global
Citizenship Education' will be provided to
learners to become active promoters of
societies?

TF § UT 2020 % IFEUN FUHGH AT¥w
—lﬁﬁtﬁﬁmﬁmﬁﬁmﬁﬁwﬁﬂ

A. tolera nt/ﬂ'%'ﬁ'{[ - 4 =,

B. peaceful/stifergut Easy Notes 4u
C. inclusive/FHTIIM || Online Study £ =
D. secure/giiard

E. sustainable/Femuri

Choose the most appropriate answer from the
options given below :

Fror faw o fayweat O wE 3T &7 OeA
SHITTT :

(a) B, C and E only /&a@ B, C 3R E

(b) Aand C only.fm A 3RC

(c) A,B.C.Dand E/ A,B,C.D 3R E

(d) B,Dand E only.,faa_c!?'r B.D 3 E




17. In the enrichment process, the fissionable U-
235 content in naturally occurring uranium is
increased from 0.7 percent to./ﬂ&"ﬁlﬁ w0 o

U W ol IRIEW cht ToriA witham W
fomreda U-235 =t woen 071;rﬁlm?ri?raw
ﬁﬂﬁﬂﬁaﬁz‘raﬁr%— —

(a) 3% \V/ (b) 5%V

(c) 10% (d) 12%

Ans.(a & b) JUHY T FHeil R 399 & &7 |
AR FATEH - 235 F TN & &, SCliG, I8
T T T iefas AT & Hae 0.7% I 8§ AR
OfiT 34 Gadq 9me Ik & T1eAH 9 SQrRn ol
T | 389 T - 235 F Gisdl 0.7% § TEH 3%
5% & o & St 2, S 5 s1fyeier Ruged § Iugm

., ¥ e
ERIBCICECIGIE SIS




23. Identify the correct order of the following
major technological changes in computers
based on first to fourth generation of
computers.

A. Microprocessors
B. Vacuum Tubes
C. Integrated circuits
D. Transistors

Choose the correct answer from the options
given below:

HheIeY o HEE W hiel JA9T ek 2TENY OY
TEr ohl bl Ugolla ahileTd—
A. TTEShIGEET B. SeR-ZT6H
C. Efenes michew D. Tifv=d
“Hor faw 1o fareRear @ 9 WE S &RT ==
ShifSTu—
(8 B.D A.C by . B . A
(&Y B.D.C. A (d) C, A, B,D
Ans.(c): FFIEL & HE A Hid SHIE HT HE HH I
TJHR g—
('I)d\dﬁq:\H—ct?'J_\mH

(111) sf=z2e afdeg

(IV) ATSHIFHET




Match List-1 with List-11

_ — _ TEAl-1 Te-11
List-1 \/ List-11 (ST W ) (@i
(Types of ambiguity) (Description) A. | s L | Rr=-Rr= A
A. | Language I. |Different ethical notions L
. - I : B. | Esier IL | A= 3T
B. | Relationship II. [Uncertain answer e — e
C. | Communication |III. [ Complex ideas D. | wienteen V.| aoag=re  Itsat o
D. | Cultural I'V.|Because of time-term =T
— foaferfiger faekeat o O WET SO &1 =9+
, ehifsTu—
Choose the correct answer from the options (a) A-L B-IL, C-IV, D-II

25V, BT CO1, Bl
(c) A-TIL, B-1V, C-I, D-II
(d) A-II, B-IIL, C-1, D-1V

given below:

F=it-1 T G- 11 & e sifse—

Ans.(b): AT TR T AR -
M/ Cor T/ i
:)- )% v \/ (STEAT W W) (@i
41/% A ST — | THTgEs weE & gl
B gaie — FATTEd I
—) ’)’// C. |omm — |[sfa fi=r
D. | gigpfas —— | fr=-fir=r Sfas awomd




32. Match List-T with List-1I1

List-1 List-11
(Types of wates) (Example)
A. | Toxic wastes L. Acid
B. | Reactive wastes II. |Hypodermic needle
C. LCorrosive wastes III. |Nitroglycerine
D. [nfectious wastes IV. [Pesticide

Choose the correct answer from the options
given below:

T=AT-1 <% 9rer T=h-11 =h1 e st —

W1 (Sh=iX <hT UehY) TEA-11 (SETETT)

A. | TaremesT sv=rT I. | 3T

B. | stfarferensiier 1. | sTerscer==r gzt
FHeIT

C. | aIvufi=r sh= T 1L |\rzer Taai=

D. |Hshtash el IV. | ShIEaT9Teh

frer fag T faokear @ O 9Er 39T &1 w9

ShitSTa—

(a) A IV BT 651 111
(b) A-1V, B-III, C-11, D-1
(c) A-I, B-II, C-III, D-IV
(d) A1, B-IV. C-IIT, D-T1

Ans.(a): g’fl'f%fﬁ Gﬁ U HhIX o
=1 (&= &1 ) =11 (3q180)
A. | fasTe =T CACEINED
B. | srfufsrarsiier s= arger Faad=
C. | &9y A=A
D. | HshEs HaU I grE gsar




TN % List-1T Ans. (d) :
(Verticals of HECI) (Functions) \/ Teft-1 geit-11
A.| NHERC L | Accreditation ~ of (¥ G
institution - _; = e
| TEER AR .| 3= &1 faframes
B. | NAC IL. | Academic  standard S —
el B. | w4.w. i [ | gw1sdl &1 e
C.| Tassd IV. | 3= fmn &1 ffeEs o
C.| HEGC [IL| Regulator for higher oo Sraor
education D. | Stz @ I1. | sTohrefie &R faeio
D. | GEC [V.| Funding and financing
of higher education
(g}\
T3 frer fifa, 2020 & IR TR & b7
Tt STTehT oh TR chl GHICT R

Tel-1 1 Tel-11 o e shifer)




Ans. (d) : 9%G H I=9 IR0 W En R afafe @
TE HEATTHA 36 TR o-
A. U FHHITH

B. 9Rdrg favafaarerd

[

C. FaFql favafaara

D. grefr gfafa ‘ \/
E. 95 e




.26. What is the full form of CBOD?
CBOD &7 Ui &0 SRIT § ?

(a) Comparative Biochemical Oxygen Demand/

FIRRT e e feaie

(b) Cﬂmmﬂn Bmchemlcal Oxygen Demand

HA TR TR Ao feaie
Carbunaceﬂus Bmchemlcal Oxygen Demand
FEFATTT muqlohluohcd A femie

(d) Classified Biochemical Oxygen Demand
FATTEERE dalhHehd Ao feaie

Ans. (¢) : CBOD (i di3ngl) &1 gl 9 ‘FEHaad
TR SIS ferie’ &1 FEHGad SEhHhd
FHirdom feuie us fafyy aRwifsd afieor 2 59 o o
Sfee Sfat g/ gferd St & &W & W S 21 o
TG SRIRAT & ANEH @ @@l & S 2 A8 T
Ry R todies 2 R &s &9 ¥ R o Y
Ya§S 8 & Udhd & ®Y H ITANT fohar Sl 2|




12.

Which of the following are the orders of
signification in communication?

freafeafga § -9 g & 319 Gehaw &
w87
(A) Denotationfﬁ@ﬁf (fEey)
(B) Connotation/avgwhte ( &I )
(C) Myth/frars

(D) Credibility/faga-=ar

(E) Attribution/ATUTRYqUT

Choose the correct answer from the options

given below:/ et fau v fawmedi W @ Wt I
T AT HIT :

(2) (A), (B) and (C) Only/&a (A), (B) 3R (C)
(b) (B), (C) and (D) Only/&ad (B), (C) 3R (D)
(¢) (C), (D) and (E) Only/&d (C), (D) 3 (E)
(d) (A), (D) and (E) Only/&dd (A), (D) 3R (E)

Ans.(a):ﬁﬁWﬂWﬂﬁiﬁﬁTé-@Wﬁ{ﬂi
o % fhdt 9%, fourR & So gue & ordf b
& T HH T THR -

) ﬂ@ﬁ(%ﬁé‘?ﬁ)%

(I1) |PgeHd ( )
(I11) forges




38.  Identify the correct sequence of the following

technologies A-D used in first generation to Ans. (b)l; Elﬂfrﬂlﬂ'c,ﬁﬁ Tﬁﬂﬁ qﬂ'c,ﬂ % W i E'Fﬂ'fl 3

fourth generation of computer. )

w2 e 3 i ||| T (A-D) 3 %

¢ Frefoan S (AD) a wh ww| | |1 PR A (G ) (194019563,

g ). TR (1956-1963)

(A) Integrated Circujts iy Ry (2 oEed) (1964-1971
e 4%1@?&%'&”\/ )

(B) Microprocessors/MTEshITIHER ' (1971

— e\
(C) Transistors/gifrex ( 9.(\> %yﬁ g d
(D) Vacuum tubes/fate et (ﬁ'ﬂﬂ o)




List/S=t-1 List/&=-11

(Online Learning (Respective

Platforms/3TTHcATSH Features/@rufareh

T w=) favrea )

. [Swayam/¥=IH [. [Paid Courses on
creative and
entrepreneurial topics
[GSTTeeh 3T Saftn
fawai W Hyew
qiddshH

. |[Udemy/3aHT II. |[Free courses from
Indian universities
jara faufaaear 9
BRI IR e

. [Skillshare/ffpargrax [I11.|Video lectures and

interactive exercises
for K-12 Students

H-12 famfefai & foag
difeat =™ 3R
FfhATcHS 379

. |[Khan Academy/@Tq
STHISH]

IV.

Paid courses on
various topics

fafiar fawai 9x g3es
RICPER]

Ans. (b) : T& e 39 YR § -

A. @Im - 9w fodfemeal @
f:green rsashy

B. 3wt - fafm fwdi w 9ge
RICOER|

C. ReaeR - g SR 3afi
fersrart ot wgesh qreshA

D. @WH et - F12 fomfda & o




e

List-1/g=h-1 List-TI/g=-11
(Type of Malware) (Description) ferawor
<Al Uahl{
A | Trojan Horse A program that replicates

REERE]

itself in order to spread to
other computers and uses
a computer network to
spread itself

98 WHM ST g SRRl
% God & fow g @
AR & R wWE H
toam & fw 3
Jzad F T FE B

Ans. (I:-n)-:

g=it-1 =11 ﬂ
( ATaTT T R ) ( TerawoT)
A. 25 B (). 98 W™ S TR FIYEU &
o & fow @I & S@Uar @
IR @WdE B thad & fou
FTeR Jead H TA H 2
B.ar| (). @4 & 9 JgqH drem  THl
—_— o fomd twr fagwgel @i

2T @ S faemfed fhT 9 W

ST A @AMl
C. TWEAW (II1). 8 Som st fedt =afe

T3 & T & o 3T

\_> Hafed FEAr T & H AR

- A 21 ISR WEY, T
FI FAH R @R T
HfSrEt g o A 2

D. {gmaeR (IV). ArldR & 98 FHR s @

TET F el S 8, g
Y S T HE 2




v'f I T : 9 AfavEa 9% - OISt 9gd |Eang,
HE qUS TS|\ ? :
\}{mm:aﬁwﬁmﬁ =TT faera 9 gH=Harg |

41. As per UGC Regulations 2018 on plagiarism a
faculty member will invite the penalty of denial
of one annual increment if in submission of a
research publication he/she commits plagiarism
of level

wrfgfcass =N ¥ et gsht 2018

garR, fordt domer aex &l T

afg = fxe Wy =T = fxar Smom, aiy @

STTHUTT USHKIITH WA a3 |1 fafafaa 7 |

fora @ ot Trfefeass =i war &2

(a) O (b) 1

(c) 2 @ 3
Ans. (¢) : ‘Tifefeas Sd (Plagiarism) @ 31w faed =
& T fFuw v s, fmR, SuE G s snfe =t
SAferepiera: A% m{dgﬁmﬁ%mﬁmﬁ
ST 21 gfefas 9% ag @ ST @ S 89 e & g
g o e = oA SS9 I fRw 31uq am @ g
T od &1 UGC 3ferg==r (2018) & 39R, wikfcas =l
& gRafSg =3 &5 gt S9a Tiar & 9ed 9 A
gifefeas I it fF=ag U & Trar 1= 2—

A3. o @ =iy wfaee @ e wfaed 9% gaEad |
JA. T X T sfaed 9 s gaeand |

forh T 9= o T aifdss 9a= gfe T f&w S 0
guvg fear s, afk &g i FhI®H WA S H
fedhrar @ o wifefeass =d shaar 21




Thanks For Watching
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